Walking Talking - Quadratics
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Factorise each of the following expressions.
(a) 6x3—12x2

2]
(b) x?2-—x-42
....................................................................................................................................................................................................... [2]
(¢) 15x2+31lx+ 14
....................................................................................................................................................................................................... [2]
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(a) Factorise the following expressions.

(i) 12x2+ 18xy [2]
(iy x2-100 (1]
(b)) Factorise x* - 5x — 14 and hence solve x* — 5x - 14 = 0. [3]
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(a) Express x> — 16x + 66 in the form (x + a)> + b where a and b are values to be found.

2]
(b) Provethat 2x+t3 3x-2 1 _ 19-6x
3 6 12
(5]
s iy 2xP+5x 7
(c)  Simplify ot
[4]
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X X . ~ . L. .
(a) Express T-3 Y+g asa single fraction in its simplest form.

[3]
4922 — 100
(b)  Simplify Tixi o0
....................................................................................................................................................................................................... .
8
(¢)  Simplify M
2x -5)
...................................................................................................................................................................................... -

© Copyright WIJEC CBAC Ltd. All rights reserved Page 5 of 8



(a) By factorising, solve the following quadratic equation.
8x2+18x-5=0

(b)  Use the quadratic formula to solve the following quadratic equation, giving your answers
correct to 2 decimal places.
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(@ Factorise 6x>+ 13x—5. [2]
(b) Rearrange to make m the subject of the following formula. [3]
2
w =30
(¢) Rearrange to make b the subject of the following formula. [3]
ab=bc+e
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(@ () Show that(x + 2)>+ 3(x + 1) - 11 can be simplified to x* + 7x — 4. [2]

(i) Solve the equation x* + 7x — 4 = (), giving your answers correct to 2 decimal
places. [3]

(b) Factorise the expression 5x” + 22x — 15 and hence solve the equation
Sx?+ 2x-15=0. [3]
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